
C0 00

001 LBL 'STIR'  ; Key: 13 C0 00 F5 21 53 54 49 52
002 'STIRLING' F8 53 54 49 52 4C 49 4E 47
003 AVIEW 7E
004 PSE 89
005 FIX 00 9C 00
006 'N ?' F3 4E 20 3F
007 PROMPT 8E
008 STO 00 30
009 2 12
010 * 42
011 PI 72
012 * 42
013 SQRT 52
014 RCL 00 20
015 1 11
016 E^X 55
017 / 43
018 RCL 00 20
019 Y^X 53
020 * 42
021 RCL 00 20
022 1/X 60
023 12 11 12
024 / 43
025 1 11
026 + 40
027 * 42
028 STOP 84
029 END C0 00 0D

STIR.txt
HP41 source program



 Program : 

   Row 1 (Lines 1-2)

X6C1005C000F52153544952F853544952Y
   Row 2 (Lines 2-7)

XFD11804C494E477E899C00F34E203F8EY
   Row 3 (Lines 8-20)

X1B120030124272425220115543205342Y
   Row 4 (Lines 21-29)

X1D1300206011124311404284C0002FY

End of Bar Code - Total of 4 Rows

STIR

HP-41 Barcode


